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And do we not derive it — %52 DA PRIT PPRWA TAY NRP I pn IRD)
from a 1"'p; and what if by 1pwn» which come from a 52

OVERVIEW

The X773 stated that even though we cannot derive through a 1"'p that (wX7) Ppwn
which became Xnv from a 72w, cannot be 2’95 Xnun, nevertheless since the 7710
does not state explicitly that a y7% can be pwn Xnvn, but rather we derive it
through a 1"p, that since a ()WX") *22 which became &nv from a YW can be Xnvn
TPWwn, so certainly the (%MWY 2R) YW can be 7"pwn Rnvn (and make it a NWKRI), and
therefore since we derive yawn RnvIw Ppwn from (PIwn KALIY) 932 RALVIY PPwn,
we apply the rule of 17710 N1°7% P77 12 X237 1°7, that just as *227 WHLIW PPWH cannot
be xnvn a *93,’ similarly yawn wnvaw Ppwn (which are derived from Wawviw Ppwn
"50n) can also not be Xnwvn a *93. Our N»dOIN explains why we cannot circumvent
this exclusion by utilizing another 1"p.

mooIN asks:
- 299I84 91290 91 9953 9N ON)

And if you will say; let us derive that v is 7pwn Xaun, through a v''p from 929X -
- 19 99 XY 1999 NIV PDYn XNVN YIY NN NN YN N0
And if (pwX1) 298 which became x»vu through a y=w can be Ppwn RX»un, so

certainly the y2w itself can be ppwn xnvn -
- %595 NPVM YN 1929 PPYN 1927 NP NNV

And now that we derive 1pwn Xnvn 7w from 221X Xnvn 7w, let us say that both
(MwRT) Prwn and (NWRT) P2IN are X»wR a .

Mo0IN answers:

' We derived on the previous Tmy that if a "2 cannot be Xavn a *23, so certainly 221 XnuIw Apw» cannot be Xnun a
93, We know that a (17WwX1) 75 cannot be Xnun a 9 for in the P1od regarding a 071 °73 into which a yaw fell ( R1p7
79,8 [*1w]) the 7N states apw» 221 A 98T 99n that only Ppwn 19318 can become Rnv from the (971) *93, but not
other o"3.
2 We need not derive that PRYN RALA YW from PRPWR RALAY 93 XpLAY YW (where we have the issue of 177
preventing the Ppwn from being 2°25 &nvn [see ‘Overview]), we can derive it from 92% and maintain that both 921
and 71pwn can be 2¥% Xnwvn.
? The 109 states (2,8 [*Paw] Xp™) that 027 X7 X0 19y 0N 03] ¥71 9 oo 1A; ). It states clearly that the 2w
(vr) is axmw Sapn from the (an?211) yw. The 7109 concludes X1 X1v from which we exclude that aR™w VW 1R
72 X% (it cannot be Rnvn another 931X), however it can be 1°pwn Xnvn (and perhaps also 0°93; why not?!).
* There is no explicit w17 that apwm Y2 cannot be o°95 Xnwn. Therefore if we derive yaw "y apwn nxmw from
7w "y DR NRMW, the Ipwn 9918 should be able to be Rnwvn a 3.
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- XY 9NN N2 199N S99 RNPVN YN PR TN SIT 15 Y
And one can say; that perforce we maintain that an %218 cannot be X»wu» a >

even an (WX1) ¥ which became X»v through a y9w; we derive this -
- %595 NPVLM PN YN XDVHY S99 NPNN PRIAN PPYNT 1IN Y91

Through a 1"'p from %2 nan» PR7T (PWKRI) PP, which can be 218 X»w» but is
not X»W» a "3, so therefore -

959 NPV RV 17 199X [NNV N1ND] YN RPVM PRY YIY HNNN XaH YN
Yo nama Ran o8, which (is weaker than %5 nnnn Ran Ppwn, for it) cannot be
528 R»un [we derive that from X»w X377], can certainly not be X2wn a “92.

SUMMARY
99 cannot be 0°93 Rnvn, through a 1'p from 22 nann 1pwn, and therefore (928
and) 7pwn cannot be 273 RnvA.

THINKING IT OVER

Moo states that Pw NaMn X277 79 is ‘weaker’ than 92 nnnn PRAT 7°Pwn, for PRwn
53 nnann PRAT can be 991X Xnwun, however YW DA X2 991X cannot be 9918 Xavn
(because we derive from X177 Xnv that 72 R¥¥D axmw gww PR).° However
previously’ moown indicated that 72 X¥1D AR AWW PR is not a X7p in order to
utilize it in a 1"p, and here Moo does utilize this X7 in a 1'\7!10

APPENDIX

There are two 1"p; one (which mo0In rejects) is, if 223X which can be the source of
IR for PPN is not DR RNV (since 72 RXVI IRMIW AWW PR), so certainly apwn
(which derives its n&mw from 921X) cannot be 721 Xnwvn. Moo rejects this 1"p,
saying that 921X Xnbn 22X PR is not a R?Ip in 228, but merely a 'technicality'.

The second 1" (which MmN accepts) is if *22 nann 1PXaT PPwn which is ‘strong’
(for it is 721X XnWN), cannot be 0°95 R, so 72 which is weak (for it cannot be
991X Xnwvn) surely cannot be 0°%5 RnwvA.

The question is why does not 900 reject the second 1"p as well, since 921 PX

3 Once we know that 92 cannot be >3 Xnvn then even if we derive yaw nann X7 1Ppwn from yaw namm K37 9N it
cannot be Y72 Xnvn on account of 7.
® Since a WX *95 cannot be Xnvn a 23 the same applies to (w&1) npwn which became ¥nv from a *75.
7 See footnote # 3. See “Thinking it over’.
¥ See footnote # 7.
 am A" nn X, [TIE see text by footnote # 3].
1 See 7"xa ) A"7 N2 X"wAn. See ‘Appendix’.
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DX Rvn is not a X7 but a ‘technicality’.

The X"w7nn answers that in the first 1" (which mo0in rejects) it is because the idea
of 721X Rnun 72X X is the X317 9p°y, but not in the second 1"p, where the 92 X
521X Xnvn is in the X317 O10.

The explanation of the X"w977n may be that in the first 1" we want to derive that
TPWn cannot be 921X Rnavn since 921X cannot be 921X &nwn. Therefore NMvoIN rejects
this notion since we cannot rule that 7pwn should not be 9218 &nun just because 7218
is not 22X Xnvn, for by 22X there is a special rule of 72 XXV AW 7w PX. In this
1"p the idea of 921X Xnvn 90X PR was not introduced as a X?Ip, but rather as a rule.
However in the second 1"'p we wish to derive that 92X cannot be 2°%> Xnun since
7Pwn (which can be 921X Xnun) are not 2°72 XL so 22X (which is not 701X Rnawvn)
can certainly not be 0°72 Xnvn. The idea of 921X Xavn 92X PR is not what we wish to
derive (as in the first 1"p) it is (merely) used to point out that 95X is not as strong as
TPWwn in a certain respect. It is a X71p not a rule.

Additionally one may add; before we make the first 1"p, the n 1% X720 (we
assume) that 7pwn can be 701 x¥nwvn (for the p1od states XYY — Xnw?). Therefore,
since the 1"p wants to negate the n°11¥°17 X720, we need a strong 1" to accomplish
this (and 221X &nwvn 99 PR is too weak an argument). However in the second 1"p,
there is no N°11¥°17 X120 that pwn 99X should be 2°95 Xnawvn (there is no 111 for it),
therefore it is easier to discredit this idea that 7pwn1 7218 should be 0°%> Rnvn even
with the weak argument of 721X Rnun 92X 7K.
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